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BEANRE SMAEEREPIRE (KHEF ~ BB R) M (-14m) SRS

% # 1B - kTR By 5 B B & = S
BEEREE 12,016, 911
WSRIEEEH 12,016, 911
WSRIEEEH 12,016, 911
HSEE 11, 819, 511
REEK 509, 434
1 EE %R 1.00 509, 434 509, 434
=
HSEE 8,438,202
2 Eig - BE 1.00 1,510, 469 1,510, 469
#
3 HSEHE M- —REEWN) -EAR 28.90 34,986 1,011,095
km
4 HREBEE0)-2 —REBEEWND - FAR 57.40 38,727 2,222,929
km
5 BSHE1)-3 —REFEEQ -@EARA 14.10 38,727 546, 050
km
6 HSBE ) -4 —REEQ - AR 31.00 43,060 1,334, 860
km
1T HSEE O HEZEE0) -mAR 7.50 38,727 290, 452
km
8 HSHRE2)-2 HEREE0) - AR 16. 60 43,060 714,796
km
9 HREE Q-3 HRZREEZ Q) -wmAR 5.40 38,727 209, 125
km
10 HSERE 2)-4 HEREEQ - FAR 5.20 43,060 223,912
km
1 HEIREE Q-5 HEZEEQ) -mAR 4.00 38, 727 154,908
km
12 HRERE2)-6 HEREEQ) - AR 5.10 43,060 219, 606
km




BERRE

FHAFEREPMER (KHF ~RH#EF HX) Hiik (-14m) R EE

% g - KSR B 2 B ® & 18

i 2,871,875
13 EHEN 94. 20 30, 487 2,871,875

km
EERE 197, 400
R 160, 000
14 EBEBRERR 1.00 160, 000 160, 000

=

ZDfth 37, 400
15 ETEREHRE EZAYUIRE 1.00 37,400 37, 400




WiER SHAEEBPIMEE (KEF ~ BHEF BR) MK (-14m) A IEE

% g - AKTiE Bifr B 2 B i & #B w E
EERAEE 7,182,989
ERE 7,182,989 x 68.6% — 519 4,927,011
HEEHRE 7,182,989 + 4,927,011 12,110, 000
E R 4,673,922 + 160,000 4,833,922
EEAGE 4,673,922
EERE 160, 000
T DAt 4,673,922 x 53.85% ( 35% = (1 — 35% ) ) 2,516, 906
EHRIE 4,833,922 + 2,516,906 7,350, 828
—REBRES 7,350,828 x 53.85% (35% + (1 — 35%) ) — 9,248 3,949,172
BHES 1 7,350,828 + 3,949,172 11, 300, 000
KB 12,110,000 + 11,300, 000 23,410, 000
HBETEALE 23,410,000 x 10.00% 2,341,000
HIREXBE (TR 23,410,000 + 2,341,000 25, 751, 000




REAR-ET/Avr—> SHAEEBIFIEE (KR ~ R ) 5 (-14m) SRS

=1
2% - REER
£ 7 R - KT By B = B Of € W E B &

FEHED (55

A 2.50 58, 600. 00 146, 500
HEn (A)

A 2.50 51, 200. 00 128, 000
HER (B)

A 2.00 41, 600. 00 83, 200
B S HER

A 2.00 42, 200. 00 84, 400
B = H AR

A 2.00 32, 400. 00 64, 800
AR L NOY

% 0.50 506, 900. 00 2,534
= 5 1YE%HeH - 1.00K 509, 434. 00 509, 434




Rifiz -/ \v7r—o

T4 FEREMME (KEF ~ R8P X) fies (-14m) SRR

&S :2
B - EfE - B Ik ED)
£ 7 R - KT By = B Of € W E B &
REE S4 kY 2L
B 4.00 3,169.00 12,676/2.00H / 8H
WMSIEERAR HMRMEERIZEEa L, HIE28. RS
B 2.00 23,925. 00 47, 850
EIEE D 200PSEY
B 1.00 167, 736. 00 167,736 6. 00H / 8H
AEEMR FRP
B 3.00 56, 760. 00 170, 280 8H
F{EHED (55
A 3.00 58, 600. 00 175, 800
HEn (A)
A 4.50 51, 200. 00 230, 400
HER (B)
A 3.50 41, 600. 00 145, 600
B S HER
A 2.00 42, 200. 00 84,400
B = H AR
A 2.00 32, 400. 00 64, 800
BIEBF
A 6. 00 31, 100. 00 186, 600
BIEHEE
A 6. 00 25, 400. 00 152, 400
AR =L NOY
% 5.00 1,438, 542. 00 71,927
= 5 1YEZHEH - 1.0048 1,510, 469. 00 1,510, 469
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T4 FEREMME (KEF ~ R8P X) fies (-14m) SRR

&S :3
& BSEE-1 —XEEQ) -WmAmE 1B%HY (17.6km)
£ 7 R - KT By = B Of | W E B &
REE S4 kY 2L
B 1.00 3,169.00 3,169/2.00H / 8H
EIEE D 200PSEY
B 1.00 167, 736. 00 167,736 6. 00H / 8H
AEEMR FRP
B 1.00 56, 760. 00 56, 760 8H
WMSIEERAR HMERMEETRIEEa L, HIE28. RS
B 1.00 23,925. 00 23,925
GNSS;BIf 2 & DGNSS
B 1.00 18, 150. 00 18, 150
BE R 1M  100kHz
B 1.00 9, 256. 50 9, 256
FEHED (55
A 1.00 58, 600. 00 58, 600
HEn (A)
A 1.00 51, 200. 00 51,200
HER (B)
A 1.00 41, 600. 00 41,600
B S HER
A 2.00 42, 200. 00 84, 400
B = H AR
A 1.00 32, 400. 00 32,400
BIEBF
A 1.00 31, 100. 00 31,100
BIEHEE
A 1.00 25, 400. 00 25,400
AR =L NOY
% 2.00 603, 696. 00 12,073
= 5 YEZEREN : 17.60km 34, 986. 00 615, 769




Rifiz -/ \v7r—o

T4 FEREMME (KEF ~ R8P X) fies (-14m) SRR

£2 .4
% BRIEE1) -2 —XxZFEEQ) - BAA 1H%Y (15.9km)
£ i R - TR~k B {5 g B %8 = H %
REE SA4 kR 2L
=] 1.00 3,169. 00 3,169/2. 00H / 8H
EHED D 200PSE!
=] 1.00 167, 736. 00 167,736 6. 00H / 8H
EESM FRP
=] 1.00 56, 760. 00 56, 760 8H
MSIEERS MSIEEREED L. BIES. 2ES
=] 1.00 23, 925. 00 23,925
GNSSRIfI S & DGNSS
=] 1.00 18, 150. 00 18, 150
BE R 1AM®  100kHz
=] 1.00 9, 256. 50 9, 256
FAEHEM (GRED
A 1.00 58, 600. 00 58, 600
HEm (A)
A 1.00 51, 200. 00 51,200
HEm (B)
A 1.00 41, 600. 00 41, 600
B S HER
A 2.00 42,200. 00 84, 400
BIE R
A 1.00 32,400. 00 32, 400
BIEBNF
A 1.00 31,100. 00 31,100
BIEWEE
A 1.00 25, 400. 00 25, 400
MR =730
% 2.00 603, 696. 00 12,073
A& F EZREH  15.90k m 38,727.00 615, 769




Rifiz -/ \v7r—o

T4 FEREMME (KEF ~ R8P X) fies (-14m) SRR

E =)
& BMSEE)-3 —XIFEEQ) -WAmE 1B%HY (15.9km)
£ 7 R - KT By = B Of | W E B &
REE S4 kY 2L
B 1.00 3,169.00 3,169/2.00H / 8H
EIEE D 200PSEY
B 1.00 167, 736. 00 167,736 6. 00H / 8H
AEEMR FRP
B 1.00 56, 760. 00 56, 760 8H
WMSIEERAR HMERMEETRIEEa L, HIE28. RS
B 1.00 23,925. 00 23,925
GNSS;BIf 2 & DGNSS
B 1.00 18, 150. 00 18, 150
BE R 1M  100kHz
B 1.00 9, 256. 50 9, 256
FEHED (55
A 1.00 58, 600. 00 58, 600
HEn (A)
A 1.00 51, 200. 00 51,200
HER (B)
A 1.00 41, 600. 00 41,600
B S HER
A 2.00 42, 200. 00 84, 400
B = H AR
A 1.00 32, 400. 00 32,400
BIEBF
A 1.00 31, 100. 00 31,100
BIEHEE
A 1.00 25, 400. 00 25,400
AR =L NOY
% 2.00 603, 696. 00 12,073
= 5 YEZEREN 1 15.90k m 38, 727. 00 615, 769
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T4 FEREMME (KEF ~ R8P X) fies (-14m) SRR

ES:6
W HMSEE)-4 —XFEEQ) - FAE 1B%HY (14.3km)
£ 7 R - KT By = B Of | W E B &
REE S4 kY 2L
B 1.00 3,169.00 3,169/2.00H / 8H
EIEE D 200PSEY
B 1.00 167, 736. 00 167,736 6. 00H / 8H
AEEMR FRP
B 1.00 56, 760. 00 56, 760 8H
WMSIEERAR HMERMEETRIEEa L, HIE28. RS
B 1.00 23,925. 00 23,925
GNSS;BIf 2 & DGNSS
B 1.00 18, 150. 00 18, 150
BE R 1M  100kHz
B 1.00 9, 256. 50 9, 256
FEHED (55
A 1.00 58, 600. 00 58, 600
HEn (A)
A 1.00 51, 200. 00 51,200
HER (B)
A 1.00 41, 600. 00 41,600
B S HER
A 2.00 42, 200. 00 84, 400
B = H AR
A 1.00 32, 400. 00 32,400
BIEBF
A 1.00 31, 100. 00 31,100
BIEHEE
A 1.00 25, 400. 00 25,400
AR =L NOY
% 2.00 603, 696. 00 12,073
= 5 YEZEREN : 14.30km 43, 060. 00 615, 769




Rifiz -/ \v7r—o

T4 FEREMME (KEF ~ R8P X) fies (-14m) SRR

B&S:7
& BMSEE Q-1 ERZFEEQ) -WAME 1B%HY (15.9km)
£ 7 R - KT By = B Of | W E B &
REE S4 kY 2L
B 1.00 3,169.00 3,169/2.00H / 8H
EIEE D 200PSEY
B 1.00 167, 736. 00 167,736 6. 00H / 8H
AEEMR FRP
B 1.00 56, 760. 00 56, 760 8H
WMSIEERAR HMERMEETRIEEa L, HIE28. RS
B 1.00 23,925. 00 23,925
GNSS;BIf 2 & DGNSS
B 1.00 18, 150. 00 18, 150
BE R 1M  100kHz
B 1.00 9, 256. 50 9, 256
FEHED (55
A 1.00 58, 600. 00 58, 600
HEn (A)
A 1.00 51, 200. 00 51,200
HER (B)
A 1.00 41, 600. 00 41,600
B S HER
A 2.00 42, 200. 00 84, 400
B = H AR
A 1.00 32, 400. 00 32,400
BIEBF
A 1.00 31, 100. 00 31,100
BIEHEE
A 1.00 25, 400. 00 25,400
AR =L NOY
% 2.00 603, 696. 00 12,073
= 5 YEZEREN 1 15.90k m 38, 727. 00 615, 769




Rifiz -/ \v7r—o

T4 FEREMME (KEF ~ R8P X) fies (-14m) SRR

S :8
& BMREE Q-2 ®RZFEEQ) - FAE 1B%HY (14.3km)
£ 7 R - KT By = B Of | W E B &
REE S4 kY 2L
B 1.00 3,169.00 3,169/2.00H / 8H
EIEE D 200PSEY
B 1.00 167, 736. 00 167,736 6. 00H / 8H
AEEMR FRP
B 1.00 56, 760. 00 56, 760 8H
WMSIEERAR HMERMEETRIEEa L, HIE28. RS
B 1.00 23,925. 00 23,925
GNSS;BIf 2 & DGNSS
B 1.00 18, 150. 00 18, 150
BE R 1M  100kHz
B 1.00 9, 256. 50 9, 256
FEHED (55
A 1.00 58, 600. 00 58, 600
HEn (A)
A 1.00 51, 200. 00 51,200
HER (B)
A 1.00 41, 600. 00 41,600
B S HER
A 2.00 42, 200. 00 84, 400
B = H AR
A 1.00 32, 400. 00 32,400
BIEBF
A 1.00 31, 100. 00 31,100
BIEHEE
A 1.00 25, 400. 00 25,400
AR =L NOY
% 2.00 603, 696. 00 12,073
= 5 YEZEREN : 14.30km 43, 060. 00 615, 769




Rifiz -/ \v7r—o

T4 FEREMME (KEF ~ R8P X) fies (-14m) SRR

HES:9
& BMREE Q-3 ®RZFEEQ -WAME 1B%HY (15.9km)
£ 7 R - KT By = B Of | W E B &
REE S4 kY 2L
B 1.00 3,169.00 3,169/2.00H / 8H
EIEE D 200PSEY
B 1.00 167, 736. 00 167,736 6. 00H / 8H
AEEMR FRP
B 1.00 56, 760. 00 56, 760 8H
WMSIEERAR HMERMEETRIEEa L, HIE28. RS
B 1.00 23,925. 00 23,925
GNSS;BIf 2 & DGNSS
B 1.00 18, 150. 00 18, 150
BE R 1M  100kHz
B 1.00 9, 256. 50 9, 256
FEHED (55
A 1.00 58, 600. 00 58, 600
HEn (A)
A 1.00 51, 200. 00 51,200
HER (B)
A 1.00 41, 600. 00 41,600
B S HER
A 2.00 42, 200. 00 84, 400
B = H AR
A 1.00 32, 400. 00 32,400
BIEBF
A 1.00 31, 100. 00 31,100
BIEHEE
A 1.00 25, 400. 00 25,400
AR =L NOY
% 2.00 603, 696. 00 12,073
= 5 YEZEREN 1 15.90k m 38, 727. 00 615, 769
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T4 FEREMME (KEF ~ R8P X) fies (-14m) SRR

H5:10
2 MRIEE Q-4 BEERZFEEQ - FAR 1TH&HY (14.3km)
£ 7 R - KT By = B Of | W E B &
REBE 54 kY 2
=] 1.00 3,169. 00 3,169 2.00H / 8H
EIEE $/HD 200PSE!
=] 1.00 167, 736. 00 167,736/6.00H / 8H
AEEMR FRP
=] 1.00 56, 760. 00 56, 760/ 8H
WMSIEERAR WMSIEERTRIEE AL, HEIEes. EkER
=] 1.00 23,925. 00 23,925
GNSS;RI I =& DGNSS
=] 1.00 18, 150. 00 18, 150
BE R 1AM®  100kHz
=] 1.00 9, 256. 50 9,256
FEHED (55
A 1.00 58, 600. 00 58, 600
HEn (A)
A 1.00 51, 200. 00 51, 200
HER (B)
A 1.00 41, 600. 00 41, 600
B S HER
A 2.00 42, 200. 00 84, 400
B = H AR
A 1.00 32, 400. 00 32,400
BIEBNF
A 1.00 31, 100. 00 31,100
BIEHEE
A 1.00 25, 400. 00 25, 400
AR =L NOY
% 2.00 603, 696. 00 12,073
& B 1EZRESN - 14.30km 43, 060. 00 615, 769
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T4 FEREMME (KEF ~ R8P X) fies (-14m) SRR

&H5: 11
2% MRIEE Q-5 HEZERIZFEEQ) -mAR 1TH&HY (15.9km)
£ 7 R - KT By = B Of | W E B &
REBE 54 kY 2
=] 1.00 3,169. 00 3,169 2.00H / 8H
EIEE $/HD 200PSE!
=] 1.00 167, 736. 00 167,736/6.00H / 8H
AEEMR FRP
=] 1.00 56, 760. 00 56, 760/ 8H
WMSIEERAR WMSIEERTRIEE AL, HEIEes. EkER
=] 1.00 23,925. 00 23,925
GNSS;RI I =& DGNSS
=] 1.00 18, 150. 00 18, 150
BE R 1AM®  100kHz
=] 1.00 9, 256. 50 9,256
FEHED (55
A 1.00 58, 600. 00 58, 600
HEn (A)
A 1.00 51, 200. 00 51, 200
HER (B)
A 1.00 41, 600. 00 41, 600
B S HER
A 2.00 42, 200. 00 84, 400
B = H AR
A 1.00 32, 400. 00 32,400
BIEBNF
A 1.00 31, 100. 00 31,100
BIEHEE
A 1.00 25, 400. 00 25, 400
AR =L NOY
% 2.00 603, 696. 00 12,073
& B YEZRESN - 15,90k m 38,727.00 615, 769
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T4 FEREMME (KEF ~ R8P X) fies (-14m) SRR

H5 :12
2% MRIEE Q) -6 HEZRIZFEEQ) - FAR 1TH&HY (14.3km)
£ 7 R - KT By = B Of | W E B &
REBE 54 kY 2
=] 1.00 3,169. 00 3,169 2.00H / 8H
EIEE $/HD 200PSE!
=] 1.00 167, 736. 00 167,736/6.00H / 8H
AEEMR FRP
=] 1.00 56, 760. 00 56, 760/ 8H
WMSIEERAR WMSIEERTRIEE AL, HEIEes. EkER
=] 1.00 23,925. 00 23,925
GNSS;RI I =& DGNSS
=] 1.00 18, 150. 00 18, 150
BE R 1AM®  100kHz
=] 1.00 9, 256. 50 9,256
FEHED (55
A 1.00 58, 600. 00 58, 600
HEn (A)
A 1.00 51, 200. 00 51, 200
HER (B)
A 1.00 41, 600. 00 41, 600
B S HER
A 2.00 42, 200. 00 84, 400
B = H AR
A 1.00 32, 400. 00 32,400
BIEBNF
A 1.00 31, 100. 00 31,100
BIEHEE
A 1.00 25, 400. 00 25, 400
AR =L NOY
% 2.00 603, 696. 00 12,073
& B 1EZRESN - 14.30km 43, 060. 00 615, 769
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T4 FEREMME (KEF ~ R8P X) fies (-14m) SRR

H5:13
BFR . BRI 100k m¥ Y
2 Lo R - KT By = B ff | # H %
FEHED (55
A 12.00 58, 600. 00 703, 200
HER (A)
A 16. 00 51, 200. 00 819, 200
A (B)
A 16. 00 41, 600. 00 665, 600
B S HER
A 8.00 42, 200. 00 337, 600
B = H AR
A 8.00 32, 400. 00 259, 200
BIEBNF
A 8.00 31,100. 00 248, 800
Mo 2RD%
% 0.50 3,033, 600. 00 15, 168
& B 1YE%HESH - 100.00k m 30, 487.00 3,048, 768
H5: 14
2 EBHRSR 1KY
2 Lo R - KT By = B ff o # w %
(BHRERE
= 1.00 160, 000. 00 160, 000
& it EZBER - 1.00= 160, 000. 00 160, 000
H5 : 15
& BIRERE E=42UVVIRE 1X&Y
2 Lo R - KT By = B ff | # w %
EIEERE E-RYIUTRE
T 1.00 37, 400. 00 37, 400
& it EZBER - 1.00 37, 400. 00 37,400
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